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Exam III

MULTIPLE CHOICE QUESTIONS ( 10 points )

In the following multiple-choice questions, circle the correct answer.

1.
Parameters are


a.
numerical characteristics of a sample


b.
numerical characteristics of a population


c.
the averages taken from a sample


d.
numerical characteristics of either a sample or a population

2.
How many simple random samples of size 3 can be selected from a population of size 7?


a.
7


b.
21


c.
35


d.
343

3.
Sampling distribution of 
 EMBED Equation.3  


 is the


a.
probability distribution of the sample mean


b.
probability distribution of the sample proportion


c.
mean of the sample


d.
mean of the population

4.
A simple random sample of 100 observations was taken from a large population.  The sample mean and the standard deviation were determined to be 80 and 12 respectively.  The standard error of the mean is


a.
1.20


b.
0.12


c.
8.00


d.
0.80

5.
A population has a standard deviation of 16.  If a sample of size 64 is selected from this population, what is the probability that the sample mean will be within (2 of the population mean?


a.
0.6826


b.
0.3413


c.
-0.6826


d.
Since the mean is not given, there is no answer to this question.

Problems
I. ( 8 points ). The average starting salary for this year's graduates at a large university (LU) is $20,000 with a standard deviation of $8,000.  Furthermore, it is known that the starting salaries are normally distributed.


a.
What is the probability that a randomly selected LU graduate will have a starting salary of at least $30,400?


b.
Individuals with starting salaries of less than $15,600 receive a low income tax break.  What percentage of the graduates will receive the tax break?


c.
What are the minimum and the maximum starting salaries of the middle 95% of the LU graduates?

d. If 189 of the recent graduates have salaries of at least $32,240, how many students graduated this year from this university?

II. ( 3 points ). The monthly earnings of computer programmers are normally distributed with a mean of $4,000.  If only 1.7 percent of programmers have monthly incomes of less than $2,834, what is the value of the standard deviation of the monthly earnings of the computer programmers.

III. ( 5 points ). The length of time it takes students to complete a statistics examination is uniformly distributed and varies between 40 and 60 minutes.


a.
Find the mathematical expression for the probability density function.


b.
Compute the probability that a student will take between 45 and 50 minutes to complete the examination.


c.
Compute the probability that a student will take no more than 40 minutes to complete the examination.


d.
What is the expected amount of time it takes a student to complete the examination?


e.
What is the variance for the amount of time it takes a student to complete the examination?

